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Grade 2 .........

Choosing the correct operation (1)
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, There are 27 apples in a box. Houssam eats 3.

Naji has marbles. He gives his brother 25. Now he has 68. -
How many marbles did Naji have? @

25 + 68 68 - 25 e e

Naji has 75 marbles. He gives some to his brother. Now he
has 18. How many marbles did Naji give 1o his brother?

75+ 18 75 - 18

Dida has 43 stamps. She has 9 stamps more than Karim.
How many stamps does Karim have?

43 +9 43-9

Karim has 35 stamps. Dida has 8 stamps more than Karim.
How many stamps does Dida have?

35+8 35-8

There are 27 apples in a box.
Houssam adds 3.
How many apples are there in the box now?

27+ 3 27 -3

How many apples are there in the box now?

27T+ 3 27-3
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